TFF R | DOVERR K OVAFRICB 95 56 (BEFD 2 38 ERHGI%E 6
F)E2EE1IHEOEDH L ZAICLVMBEELZIKO LB AL LE
7,

k2 7TH12H1H

BhRE B OM A — BR
1 P2 THRETEOFITIRI. CER2 TH4 A 1 BNV 2 74
9H3OHFTOHIMIZBITALED) 12OV

(1) WA THEROBITIRGL

(2) EEOAHBEORLRR

(3) MpE, TELROV—EEAEOBES

2 VK2 6 FEFRFHRFEIZONT

3 WEOBE KO R OM B #t



FEAO 403, 260A
EEEFHH 185, 8861
L 36. 60km

(FH27%(20154)9H3081%)

O =P OB

OMB OB R U RO MES &t

FR26FE—RRFORAL. RERIMN22F2FFANRFELY, FHRI16FEEURRFREEHIELTOES, E6I
BEEBNEEIODBRAERAEZ LNFHELYL—FIEILTREY 2LL0I12. WBEHBRESLEDBEAILTEIToEN.
BREERTLEA B E—BOR L ERBAIMEAZITVEL . FHIKHORED . 2EHTRERXOEFE
BILTOET, S5I2, BELHITEN TR, FRFESHDPRHBEEDEEOOFRFILES>-HDD, EETRELEIF3
REFFEORERSCELZITELTOVEVVRRTY SR LVBESEEEROMEIICAITIRVBATHEET.

274 (20155)12A18  2dmE  BF H—H0

ER27EE (201585 E) FEDQIT

N
~

A

A

ER26FEE (2014FE)ZRETRE

/.
- Erx" 'zéz' E‘I’ B BAA [FE 274 (2015%)9 30 IR ]
0
gz 40,721 65, 755 251” IBE
el (14 ] 13, 861 131, 550 2| mEAERS
e 0 3850 =
L e— P a37(] HHE
prgige BLOS ) o sa6(] PTH
Ho s EELAO0 B (BUTH) 3040 sz
o n e O ’ T2ME2 T3 7 11 (47. 1%) 648
AR 6,616 il s
7 I BB AR 4,215 Bk
- 56, 134 1, 536(& 115 7 [ % I
" _—. 1, 656 4,243
G T B 958, e ——
sgespe B 278 = 3 FACAT ) 10,720 — AR
s LEg4 563{%9F 8 E 75 1 (36.7%) 11805 , _ EEB
' % 6,447 -
s34 - B4 %716’ 654 D?siiﬁﬁ:mﬁﬁﬂ 12,798!—'—— NEE
. Dol 5,061 .
fé’i@@{f} szé(?gz 18,617 | _ :ﬁm’]’%%
e e, 86561 5,955 I s 3
zopn 1809 A ———
74,269
#38657B5F ST [ TREOHBEERKR TRIALY163050 |  su m/A

T R 80 804(49.6%)

#N TS EIFR 13,775(8.4%
| \ Ei ZDH 3,074(1.9%)

mA
1,460fF2F48 A M

THH(45.6%)

=] [ 37 H £:(19.6%)

| HEG
FXZHEE6.1%

75 3 {45 (4.4% B84 (3.8%)

B . BAE2.2%
N 20 Hn9.3%)

A HBE B AT &
(2.9%)

— B = B ww o=sm
4w
1,427{83F3E8 A H
B #51 E=pill

BN (25.6%)

R4 #(46.6%)
A2 (19.4%)

0442 (13.5%)
BEE12.9%)

HENEE(12.9%)
IMEE(10.0%)

NEE9.9%)

BENRE
(9.6%)

B £(6.3%)

75 E(9.6%)
BIEE(7.9%)
T RE(6.5%)

JEBRE(3.3%)
EXEE21%

53— 3V TYCR ) ZDit(2.8%)
[ 7€ & FEFt 59,026(36.2%) MT=IETH 6,380(3.9%) SRS B o AR G i a8 . "\
%5l & 8w AR OKE s B Tt L
: = 8 Bt B5H = % B B75H PS5 HBERARLHS139 FHE100 =
Py e e — SRR LA AR 8249
Z=a = 4 = 4 =
ERERARKREEXRG 53,858| 21,991| 24,082
- - S|, = < =
NEREBRELSH 20549 11498 12,187 gé;% Aty [ BREE | | NEtESEH |
= s =1
B EnhEERERAE 5725| 2,033 1846 217. 920 B HHM 46,458 B HHA
LHABITNGERRE 0,1 M 0 -
MR A 222 9 11 ERRERESREH 44,131 E5 |mmsxlcasklsss
SLESE B RS S .- ] S 27,980 it 5 )
BFRFERENELEHERET 19 161 4 MERRE RS 27,60 IRA | 18,098 7.980| 13,187
= N = 5,383 X | 18277 7.323| 12475
MRORES EREREEREELE 5,180
878E7F8EHAH ok pun 32 (B3A)
(11.6%) (100.0%) ) ) 53 IR A | 2241| 1,720 2048
Ed‘fid)l{ﬁ;’ﬂ NHAMEITIRGERRE I 36 i 3706| 3755| 4726
| 144
BFRFERELESE SR 12
= TARE 35
@ Tt s (13.5%) amwnwssray | 77 tir (D
. ,915,064m = 2 — AL TE
937,806n 2,915,064 173{84F8EHM B AE |97 —
RER HMERKE 97

KEEE TRTEMRBERAEL TS

B EEDLLGVEAHYEY




	zaisei1
	zaisei2

